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Challenge

Using the results you have already got in your table, can you work out which packets Augustus would buy to get:

24 sweets
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30 sweets 


35 sweets 


19 sweets 
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How many sacks are in a pair? Use this fact to help you
salve the sack problems. helow!

5 pairs of socks = [Tso0ks altogether

6 pairs of socks = [ sock: atogether

I T have 11 socks, how many pais

cks would I have? Would T have any lef over?

T pas f ok = [Jaocks cliogether

10 pairs of socks = [ sock

ltogether

TfT have 19 socks, how many pairs of socks would I have?
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T pas o ke = Toocks cliogetier

7 pairs of socks

ocks altogether

IfT have 13 socks, how many pair

cks would I have?
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